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Pour que la plante pousse, il faut : 

De l’eau 

De la chaleur 

Des cailloux 

Du soleil 

De la terre 

Une graine 

De la neige 
Du froid 

De la lumière 
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Graine + eau + 
terre + chaleur + 

lumière 

Caillou + terre + 
eau + chaleur + 

lumière 

 

 3 

OUI NON 
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Graine + eau + 
terre + chaleur + 

lumière 

Graine + terre 
sèche + chaleur + 

lumière 
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OUI NON 
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Graine + eau + 
terre + chaleur + 

lumière 

Graine + coton + 
eau + chaleur + 

lumière 

 

 3 

OUI NON 
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Graine + eau + 
chaleur + lumière 
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Graine + eau + 
terre + chaleur + 

lumière 

Graine + terre 
sèche + chaleur + 

noir 

 

 3 

OUI NON 
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Graine + eau + 
terre + chaleur + 

lumière 

Graine + terre 
sèche + froid + 

lumière 

 

 3 

OUI NON 
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